Two rods, AB and BC, are connected and moving. A pin at point A follows the vertical slot shown. Find the ICZV
for each rod at the instant shown. If rod BC has an angular velocity of 3 rad/s, find the angular velocity of rod

AB. '\I
wAQ; ? A \/V
) —_—

Assome Hng: Wa
S

- A
Wpc = 3V00{/§ &)

Tp/e= O Im j\ ZX0.
Ve-2Rx019
=—0.73 V«/g/c

\IB = WAR X ‘—B/IC

Wag k X 023 )
(2

A
O-2 12 Wae U

\



iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)


